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265;

270,

295,

300,

305.

400,

410;

420,

430,
450,

455,

DR IE th 2 pLBY 2 1] )
(PC-1500A +CE~158+CE-515P)

£ H =
(I IBE R ETET E  610066)

C 8 EISH560T )

FOR I=CTO 1STEP -1; LPRIN
T SM#;B(I); %, 7 Z(1), LPRINT
‘P.”, NEXT I,LPRINT “H”,RET
URN

GOSUB 455, LPRINT “*H”,RETU
RN

LPRINT CHR$ &1B;“2”
LPRINT “M300,95”; LPRINT CH
R$ &OF. LPRINT *P”;, LPRIN
T %y 751LsD$8”;CHR $ & 7D; %%
"sCHR$ &7D;*HN”;CHR§$ &22
sCHR$ &2C;

LPRINT *5k”;CHR $ &25; CHR
$ &7D;CHRS$ &27;*M1 »Cr771
9%51Ls; %ABHD; 87, LPRINT C
HR$ &0F; LPRINT “H”, RETU
RN

LPRINT “M7; W; M\, 7, WW + 40
LPRINT “D7; W; N7, WW, N7, W
+5;5 N7 WW +10;%,7; W-—-5;%,7
WW+10;%7, WM, WW
LPRINT "M”"; W+ AA; N7, WW +
25, LPRINT “P7;Q$;

RETURN

LPRINT *M”; T(M) +8;%,7; HM
)-5,;LPRINT *P7;D$ (L)
LPRINT CHR$ &1B;CHRS$ (&
30+00),FOR I=MTO 1STEP

-1, LPRINT ™™M*, T(ID)-1;%,% H
(I~ 1,LPRINT “P,”, NEXT LI.R

475;

480,

485;

487,
490,
492,

495,
498.

500:

502;

505:
510;

ETURN

LPRINT CHR$ &1B;“b”,LPRI
NT *M350,0”, LPRINT CHR $
&lB; “?B”

LPRINT CHR$ &OF,LPRINT
“P#;, LPRINT % d&”;CHR$ &
7B; Z7fABHDF1) d”,LPRINT CH
R$ &OE

LPRINT “M350,-5"; LPRINT *D
595, - 57; LPRINT “M350, - 10",
LPRINT *Ds595, - 10”; LPRINT
CHR$ &1B;“A”,LPRINT “Mo,
- 100"

LPRINT “*A”,RETURN

FOR I=1TO M;R=X-T(D)

IF R¢=0LET X1=T{-1);, Yi=
HI-1).X2=T); Y2=H), GO
TO 498

NEXT I
Y=(Y2-YDXX/(X2-X1)+ (Y1
XX2-X1%Y2)/(X2-X1): RETU
RN

DIM P(2,50), TT(50),A(50), C(50
),D(2,50),Q(50),R(2,50), V(2,50
),P5(2,52),Q5(2,50)

INPUT “N=¢7;N,DIM D$(N),
T(60),H(60): AX=0.TX=0

FOR L=1TO N

READ'D$ (L),M,T(1), HQ1); TI
=INT (T(1)); R7=INT ((T(1) -
TI)>100)
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511; R5=(10000%T(1) -10000% Tl - R7 576; LPRINT CHR$ &1B;*b”,LPRIN
%100)/30; T(1) =0 T *"M”sP(1,1)5%, 73 P2, 1)

515 FOR J=2TOM;READ T(I,HWU) 578, W9=1/(5+1); FOR I=1TO M1,
. TI=T{): GOSUB 640, T(1)=T U=Wg,LPRINT *D”; P(1,I); %"
J.IF AX - ABS(HWU))<=0LET A s P2,

X =ABS (HU)» 580, FOR J=1TO 5,F1=1-3%UXU+

517 IF TX-T)«=0LET TX=T () 2XUXUXU,F2=3%UXU-2%XU

518; NEXT I X UXU,;G1=U-2X%UXU+UxU

520, NEXT L.DX=INT (TX/9)+1,D xU
Y =3%DX,RETURN 582, G2=-UXU+UXUXU

550; FOR I=1TO M,P(1,D)=T),; P( 584; X=P(1,DXF1+P(, 1+1)%F2+
2,[)=H(D; NEXT I V1, DXGIXTTM + V1, 1+ 1%

554; M1=M-1,FOR 1=1TO M1, TT G2XTT
»=SQR ((P(1,1+1)-P(1,INA2+ 586; Y=P2,DXF1+P(2, [+1)%F2+
(P2, 1+1)-P2,D)A2); NEXT I V2, DXGIXTT + V2, T+ 1%

556; FOR [=2TO M1, A(D)=TT( /(T G2XTT()
TA-1D+TT):CDH=1-A) 588; LPRINT *D”; X, Y, U=U+W

557; FOR J=1TO 2 9

558; D, 1) =3xXADX(PU,D-PU,I- 590, NEXT J,NEXT I
DY/ TTA-1)+3XCDHXPU, T+ 592; LPRINT “D”; P(1,M);",”; P(2,M)
L-PU,D)H/TTWM 594, RETURN

560 NEXT J,NEXT I 600; FOR I=1TO M,Q5(1,D=TD:Q

562; Q(1)=1,FOR J=1 TO 2; R, 1) 5(2,1) =H(I); NEXT I
=2%(P,2)-PU,1))/TT(1);: NE 605: M1=M+1,FOR [=2TO M1, P5(1
XT 1 ,D=Q5(1,1-1):P5(2,1) =Q5 (2,I

564, FOR 1=2TO M1, W9=2-ADX¥ -1):NEXT I
QU -1.:QM=CH/Wy9 610, P5(1,1)=Ps5(1,3)-0:P5(2,1)=P5

566 FOR J=1TO 2,R{UJ,DH=(DU,DH - (2,3)-0:P5(1,M+2)=1+P5(1,M
AMXRA,I-1))/W9 ):P5(2,M+2)=1+Ps5(2,M)

568; NEXT J.NEXT I 615 LPRINT CHR$ &1B;CHR$ (&

570, FOR I=1TO 2, V{,M)=(@X(PJ 30+ 0)
,M-PU,M1)/TT(MD) - RI,M1 616, LPRINT CHR$ &1B;“b”, LPRI
N/(1-QM1), NEXT J NT “M”; P5(1,2)5%,”; P5(2,2)

572, FOR I1=1TO M1, I=M-11 618; FOR I=1TO M-1

574; FOR I=1TO 2, V{J, h=RU,D - 620; FOR I=1TO 5, T1=1%0.5/(6+1)
QHX%V,T+1); NEXT J. NEXT : F1=4XT1%T1-T1-4%T1%T1
10 ¥T1;F2=1-10X%T1%T1+12%T1

575 LPRINT CHR$ &1B;CHRS$ (& XT1%T1
30+ 0) 622: F3=T1+8%T1%T1-12%T1xT1
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624,

626.

628
630,

640,
645,

655,

700

705,

710

715

717,
718,

HXT1, Fa=4%T1xT1X%T1-2X%XT1
*T1

PX =F1XP5(1,1) + FaxP5(1,I1+1)
+F3XP501,I+2) + F4¢Ps5(1,1+3)
PY =F1XP5(2,1) + F2XP5(2,1+ 1)
+F3xP5(2,1+2)+FiaxP5(2, 1 +3)
LPRINT*D"; PX;%,* PY,NEXT ]
LPRINT *D#, P5¢1,I1+2);",”; P5(
2,1+2), NEXT [,RETURN
R8=INT ((TJ-INT TI)X100)
R6=(10000%TJ-10000%¢INT TJ-
R8X100)/30

TI=12%(NT TJ-TD +R8-R7+
R~ R5;RETURN

DATA “A”,23,86.0901,0,86.0917,
1.4,86.1023,2.6,86.1113,2.9,86.12
03

DATA 4.0,86.1224,3.2, 87,0108,3
.8,87.0124,4.4,87.0303,5.0,87.031
9,5.0,87.0406

DATA 5.9,87.0423,6.2, 87.0511,6
+7,87.0527,7.2,87.0626,7.8,87.082
4,8.5,87.1029

DATA 9.7,88.0316,11.0, 88.0524,
11.1,88.0730,11.6,88.1005,11.7,89
.0314,12.6

DATA 89.0814,12.7
DATA “B”,22,86.0901,0, 86.0917,

1.2,86.1113,2.8,86.1203,4.1,86.12
24,3.5,87.0108

720, DATA 3.9,87.0124,5.0, 87.0303,5
.0,87.0319,5.0,87.0406,5.5,87.042
3,5.7,87.0511

722: DATA 6.2,87.0527,6.8, 87.0626,7
.4,87.0824,7.7,87.1029,8.9,88.031
6,10.7,88.0524

724: DATA 10.7,88.0730,10.7, 88.1005
,10.9,89,0314,11.8,89.0814,11.6

726; DATA 23,86.0901,0,86.0917,2, 86
.1023,4,86.1113,6,86.1203,8,86.12
24,10,87.0108

728; DATA 12,87.0124,14,87.0303, 16,
87.0319,18,87.0406,20,87.0423,22.
87.0511,24

730. DATA 87.0527,25,87.0626,28, 87,
0824,28,87.1029,28,88.0316, 28,88,
0524,28

732; DATA 88.0730,28,88.1005,28, 89.
0314,28,89.0814,28
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